
1

TP
20

4 
R

ev
. A

004-0968-99 [Revised:  11/19/12]

MA8470i

Multi-Purpose Shelf- 9A484001
Item Description Qty.

1 Multi-Purpose Shelf Assy. (includes 2 thru 9) 1
2 • Shelf Mounting Bracket 1
3 • Nylon Washer (1/4” ID x 1/16” thick) 4
4 • Flat Head Socket Cap Screw (#10-24 x 5/8”) 2
5 • Shelf Support Bracket 1
6 • Shelf 1
7 • Flat Head Machine Screw (#8-32 x 1/4”) 4
8 • SAE Flat Washer 2
9 • Nylock Hex Nut (#10-24) 2

9A484001	 1

AS-819	 9

AS-511	 8

2	 AS-1406

4	 AS-1410

5	 AS-1376

AS-1377-xxx	 6

3	 AS-275

AS-868	 7


	Button 14: 
	Page 1: Off



